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[ p1 -22.67 + 0.00

FC=44.11 [psich] ™, 7

TP delay [ns]

TVC(eb,oh)=(3, 9, 10

~ 1 nuip,51ze+09 / 25
.. po 4027+ 0.0
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pl -22.61+ 0.00

FC =44.23 [ps/ch] ™. ]
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p1 22,3+ 0.0
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X~ sz3e+U9 / 25 A7 1 num.bZoe+u9 / 25 ~ o, 14.1e+U9 / 25 AT 1 nuir.413e+09 / 25
4000 po 3941% 0.0 4000 e, po 4011+ 0.0 4000 e, pO 3999+ 0.0 4000 [, po 3957+ 0.0
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~ 1 nu, (88e+U9 / 25 T e 3z/e+U9 / 25 -1y z8be+U9 / 25 -y pBle+u9 / 25
) ) ) )
4000 =, 4000 k5, 4000 k=, 4000 k=,
™ PO 3854+ 0.0 —— DO 3948+ 0.0 - PO 3899+ 0.0 - PO 3958+ 0.0
~ pl -22.34+ 0.00 -25.55+ 0.00 : N pl -23.55+ 0.00 pl -23.34+ 0.00
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RERLEUR 44):>e+09 125 X Us)seﬂ)g 125 ALY bua)e+09/25 Ty um)ewg 125
4000 = pO 3949+ 0.0 4000 o, pO 4027+ 0.0 4000 —— po 3971+ 0.0 4000 o p0 4012+ 0.0
= pl -23.12 + 0.00 pl -24.52 + 0.00 F pl -22.73+ 0.00 pl -23.92 + 0.00
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,11, 12 TVC(cbch) (611,13 TVC(cbch) (6,11, 14 TVC(cbch) (6,11,15)

AT 1w, Mz)ewg 125 Sy, uu)eﬂ)e 125 LSRRl 101)e+u9 125 <1 e, 545e+U9 / 25
4000 fmm PO 4006+ 0.0 4000 foe,,, pO 4014 00 4000 fom PO 4102+ 00 4000 4045£ 0.0
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~ 1 i0.4056+09 ] 25 A 1 un.y5ae+U5 | 25 = .2 f5e+09 ] 25 A i o0ze+U9 ] 25
4000 3939+ 0.0 4000 e, po 4244% 0.0 4000 ke pO 3928+ 0.0 4000 fee po 3908+ 0.0
2357+ 0.00 Pl 3357000 [ < PL_ 2254+ 0.00 N Pl 2233000
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2000 b 2000 | - 2000 ] 20001 7]
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4000 i, pO 3953+ 0.0 4000 P, DU 3939+ 0.0 4000 P pO 3929 0.0 4000 faen, PO 3973+ 0.0
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RERITLCE 42084—(!9 125 T, u)/eﬂ)g 125 S| u)e+u9/25 ERALUR 414)e+u9 125
4000 39451+ 0.0 4000 4019+ 0.0 4000 e, po 4010+ 0.0 4000 3989+ 0.0
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RERLUR 4/2e+\)9 125 BEALLR 3:;2e+\)9 125 T, ::y2e+u9 125 ALK ::42e+\)9 125
4000 B, pO 3978+ 0.0 4000 4001 0.0 4000 R, PD 4008+ 0.0 4000 4006+ 0.0
pl -22.68+ 0.00 -23.33+ 0.00 o pl -23.36+ 0.00 -23.87 + 0.00
3000~ - 3000 E 3000 ] 3000 E
2000~ 1 2000 ] 2000 L ] 2000 -
3 [ ]
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1000 ™ 1000 b [ = ] ™
F e — - . Fe = - B L~ _ - ] [ ~ _ - ]
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“nun,ysLe+U9 / 25 AT 1 nup.u/1e+U9 /25 X~ 1w ro4e+U9 / 25 A~ 1 hu,5bze+U9 / 25
4000 3955+ 0.0 4000 pmm, po 3863+ 0.0 4000 fme po 3245+ 0.0 4000 foee po 3847+ 0.0
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— Trnuay 1\_7):;e+09 125 Tnay JL?/E+UQ 125 — T nu; 52:;e+u9 125 TN Eb)ﬂeﬂ)g 125
4000 ™ PU 3894+ 0.0 4000 _-n. DU 3883+ 0.0 4000 s PO 3902+ 0.0 4000 -\- PU 3939+ 0.0
pl -23.39+ 0.00 ~ pl -23.31+ 0.00 : pl -23.03+ 0.00 pl -23.75+ 0.00
3000 - -1 3000 |- -1 3000 -— —- 3000 | -1
2000~ 1 2000~ = 2000 -— —- 2000 -
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T, 13:e+09 125 Ty Ui):ve+U9 125 S, J_u?e-*ug 125 T g, b/::)e+u9 125
4000 3983+ 0.0 4000 4002% 0.0 4000 [, DO 4083+ 0.0 4000 Fm pO 4074+ 0.0
-24.56 + 0.00 -23.83+ 0.00 3 pl -26.87 + 0.00 pL -27.38: 0.00
3000 e 3000 - 3000 ] 3000 e
2000 - 2000 - 2000k ] 2000 7
w0 C =40.71 [pS/Ch]-'.- 7 woo- C =41.96 [pS/Ch]-'_- ] 1000-—C =37.21 [pS/Ch]-'. ] oo C = 36.52 [pS/ChI'._- 7
1 1 - 1 1 - : 1 1 - : L 1 -
0 50 T00 50 00 0 50 T00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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- AL 14)64-\)9 125 T nay 4U29+\)9 125 LN /u2e+u9 125 = SRV 442e+\)9 125
4000 [ PO 4005+ 0.0 4000 3825+ 0.0 4000 _-—- PD 3910+ 0.0 4000 -—- PO 3911+ 0.0
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